UNCLASSIFIED

&

[CONCRETE WALL]

15M FEBR
BLAST
GALV

EXTERIOR

[
/ — — —
Z [
W132—R
o | N
R R
. 7
2 = @& €£>:>\ [ _
3 x \8/ VZ 2
g g [ % )
g s 7 [ B
& /
A5 Vs Il
\2/
/6 U
O 6
SN % y |
/
940mm [37"] D.0. ELEVATION
105mm [4 1/8"] 1029mm [40 1/2"] F.D.

406mm [16"] T.0.

‘[ 1041mm [41"] T.0.

55/me [61 1/8"] R.0.

=z —
(D% g o
zZz s 2
Z i =
&ugﬁ o U)E
L.J%OEEO o
Emugm%%ﬂo
BlEBELHHR
EMBEDS: 2808823 ¢e
12mm [1/2"] X 210mm [8 1/2"] STEEL PLATE EMBED DIMENSIONS -
HORIZONTALS 1578mm [62 1/8"] (2) E%
VERTICALS 2192mm [86 1/4"] (2) %é o
6mm [1/4’] X 51mm [2"] X 203mm [8"] STEEL TUBE SUBFRAME DIMENSION o oo
MULLIONS 2192mm [86 1/4"] (2) 27 93k
235548
LOOSE PARTS: .
—1 .,
19mm [3/4”] X 19mm [3/4"] BALLISTIC BAR DIMENSIONS REa83 ¥
HORIZONTALS 1003mm [39 1/2"] (1), 9885,
368mm [14 1/2°] (1) —00zx23
VERTICALS 2192mm [86 1/4"] (3) Loonic>
TOOLS AND ACCESSORIES: SE:§
DOOR: E’E:E
20 — M12 x 50mm, CLASS 12.9 SOCKET CAP SCREWS (ALLEN HEAD) Egég
Eqa
20 — 1/4-20 SELF—TAPPING SCREWS EEQE
2E8
2 — ALUMINUM SILGLAZE 5oz,
42" - 3/8" BACKER ROD §eae
vl
1 —12mm GUN TAP 42hh
1 —”Y” DRILL BIT Egggs
1 — # DRILL BIT xo Eﬁqgg
oN - Eg::
3 — PLASTIC CAPS s 2 EEEEE
=z Ll 52'623
s &2 | g
WINDOW: g 30 ggiug
o am Eo%XF
30 — M12 x 50mm, CLASS 12.9 SOCKET CAP SCREWS (ALLEN HEAD)
12 —1/4-20 SELF TAPPING SCREWS
1 — ALUMINUM SILGLAZE "
t) _ ” § g
24’ — 3/8" BACKER ROD S =
1 —12mm GUN TAP A T
-8 )
1 —”Y” DRILL BIT aloSRzuy
1 — #1 DRILL BIT PeNeToXs
c & @gd
SnzEI2uy
o sS0O000NOO0L
ID:
FABRICATION -
DESIGNS, INC. -
5622 LAFAYETTE PLACE SHEET:
HYATTSVILLE, MD 20781 10F 9

TOLL FREE:

PHONE: 301-699-0777 FAX: 301-699-0779

800—-366—7725

UNCLASSIFIED




UNCLASSIFIED

‘5’: 5 o o
[]ﬂﬁ 149 13/16 Blad [0 1/2) =g, o v2
152mm [6"] 0.C 1265mm [49 13/16 e|=g 267mm [10 1/2" d n = ITES
’ " 2|82 6 " 1S4§ELXEI\8/IB1E/D2 f520u8
1/2" X 8 1/2" ™\ | £S5 150mm [6"] smof [18 5/167] 533mm [21°] NOTES: IO Foralic
STEEL EMBED /—V E|°2 11/4" ELECTRICAL — °gz°8332u
N Z =
: 8| < 7 / ACCESS HOLES 1. CONCRETE EMBED FOR A DOOR FRAME WITH DIAGONAL BRACE ON 52ESS5R5 0
59 o © o o 50 7 ool olo o o ool BOTH UPPER CORNERS AND HORIZONTAL BRACES ON 3 POINTS. conotoZn
1) o o © MO OO0X N WK
- 3/4” X 8" STUD J _ 2. INSTALLER WILL INSTALL EMBED PLATE FRAME WITH ALL BRACES IN PLACE .
3 % S 3/4” X 8" STUD 5 & S § S ALONG WITH CONTRACTOR SHORING. ALL BRACES MUST BE REMOVED ONCE THE R
|Z2q 2la T 3/8" BEVEL ON 8" o 2|2, 2|2 CONCRETE WALL CONSTRUCTION POUR HAS BEEN COMPLETED. ALL PONTS OF |4,
- gg = E / SIDE OF TUBE = E :g = E CONTACT WILL BE PRIMED WITH SUITABLE ANTI-RUST PAINT. INSPECT ALL oY §¢
=|8% SILL STEEL EMBED Eleo A sE T £ ZI18% Ele ANCHOR NUTS FOR FLOATING ADJUSTMENT. 8% 1S%
” = =] =] zT I
Elo 3/4" HOLES FOR THRESHOLD—® gl y gle © Tigzol
. PLASTIC ANCHORS HEADER STEEL EMBED 3/8" BEVEL ON &° B8T&4E
FACE OF TUBE _ldu% i
152mm [6°] 0.C. |, 152mm [6"] 0.C. L L305mm [12" N — §§§§ . F
= ¥ = Iz
122mm [4 13/16"] 84mm [3-5/16"] FIRST STUD ’| ’| ’| 122mm [4 13/16"] 2 E = § § % %%
— [ [
@ WINDOW : £ 102mm [47] £ -
ANCHOR HOLES 6o 1/4 5 © STUDS £l —
» ” N - L, w x §
5 /—3/4" X 8 ST’L,JD = . TE CZD g %
%] 1/2" X 8 1/2 Y B - = cge,
STEEL EMBED i Y o fog
O — I —| §
3 el £ g 3/8" BEVEL Of & _ N sLit
o | o S e — < SIDE OF TUBE 2 < 2gsf
g S HE ATTACK £ o 562,
L, 2] < SIDE > £ @ 202
o £ o = = 4
ATTACK ° - E 5 S T @ : g
SIDE > ° 8 o ¥ ” ” uEw E E 3
o — R i — 3/4 X 8 STUD \ % =4 * o : :E
) o+ RN Eyled
o — = 12 x81/2 » s B |l
° g 8 STEEL EMBED \o = z Lu &g
o = — I — £ : o= |gE
° | 5 e 5 £ N 5 2883 2
o .Q E —— = S \ o
— ~ € g I —
o ~, e E al o o,
(o) E - —— —— 1 iﬁﬁ o o £ £
o ] 2 ~ 4 “oE’ E g
° | 2 gl v g = " T =r gl -
;| g o 5l o 2| | & S 3
% Z % — — —— : ach o £ £ % e_ o
° | B = 7 s £ gl "l =T 1
° - E £ = el ° = =8 9
o & <2 £ Al 1w~
) I & o BE58-EIL
7 < — &
> ..
102mm [4°] \ 108mm [4 1/47] o Dgd
@ STUDS M M M ﬂ ﬂ M ﬂ ﬂ M MUST BE SET AT @ DOOR ANCHOR VERTIGAL STEEL EMBED g*n&—(uﬂég‘z‘
84mm [3 5/16"] FIRST STUD || FINISH FLOOR GRADE HOLES ON DOOR §§§E§§§E
VERTICAL STEEL EMBED 152mm [6°] 0.C. \, S4mm [2 1/87] D:
ON WINDOW . 1 i DI FABRICATION
406mm (16| T.0. 1092mm [437] T.0. 132-R
[167] [43"] I * DESIGNS, INC.
553mm [61 1/8"] R.0. 5622 LAFAYETTE PLACE SHEET:
HYATTSVILLE, MD 20781
PHONE: 301-699—0777 FAX: 301—699—0779 2 0F 9
TOLL FREE: 800—366—7725
SUBERAME FIFVATION AND BRACING

UNCLASSIFIED



UNCLASSIFIED

=z —
o O o
Om Z uoe
26 Z bz
&525 o U)E
L.J%OEEO no
T gl
= _ wWnIE=3
oxXsSO0003Z,y,
s S zL35=D
naowocoxmniF
o
ACCESS HOLE FOR MAIN POWER SUPPLY 2828522492
i
Q1
3 2
— | o<
85 oSf
POWER CAN ENTER INTO THE HEAD TUBE fln;lOI|
FROM ONE POINT TO THE CENTER OF THE E%§£%E
= HINGE JAMB. o o
IEI IE. —— _ldu% E
E B-32 X o/E e DOOR_STOP (2° TALL) | owwa Lock 2068 E égg 8 h
— DSE DYNASTAT/ - EEOO%%
] / ~282282
LOoOOonw>
£ £ @ : o |%
S & 9 § zE3.
=, —= < Byt
5 / & 5| fg
— — = z“?§
E TERMIE}( ACCESS E 2 ﬁiga
3 IN THE HINGE JAMB SLOTIED ANCHOR HOLE 3 o EEsE
e 5tmm [2] 2 = gelz
© =y (V] wph
¥ \ y =8|
= . £8 |l
~ ™~ <C gH3z
= _ \ - = DI: NS EEEEE
£ 5, R oy . £ NS %%
§ E \ 3/8" X 9 1/2° BAR N § % ‘_EL'.J' EEEE
e/ — S ATTACHED | @ — S o (|—_> L sE:=§
in, 'V & 1/4-20 X 3/4" FHMS 7_/ a N o § 8"”5 §E§§§
— i) i) — ag
I N\ o L e S\ 0
o LOCK RECEIVER S z
AN 3
3
M ['4
. S o
ACCESS HOLE ONLY ACCESS HOLE ONLY - e
—— 14
(N0 ANCHOR) VIEW FROM THE PROTECTED (NO' ANCHOR) _5S T
SIDE OF UNIT 0T298 D
ANCHOR HOLE SPACING ANCHOR HOLE SPACING H8 5 S =B
(HINGE JAMB) (LOCK JAMB) * %
e 5 Do
O .. < "z§§
SMREEL
283232 ES
ID:
FABRICATION -
DESIGNS, INC. N
5622 LAFAYETTE PLACE SHEET:
HYATTSVILLE, MD 20781 3 0F 9

PHONE: 301-699-0777 FAX: 301-699-0779
TOLL FREE: 800-366—7725

UNCLASSIFIED




UNCLASSIFIED

GLAZING:

1. VISION OPENINGS ARE 20 1/4” X 30 1/2"

JUNCTION BOX (BY OTHERS)
WIRING ACCESS \D

[CONCRETE WALL|

>

2. GLASS SIZES ARE 21 3/8" X 31 5/8”
3. POLYCARBONATE SIZES ARE 25 5/16" X 33 3/4"

[1/4" X 2" X 8" STEEL TUBE]|

NOTES:

1. FDI ID STAMP INDICATES PRODUCT NUMBER
DOOR—MONTH—YEAR—INTERNAL JOB

2. DOOR FRAME BOLT HOLES SLOTTED HORIZONTALLY

3. DOOR LEAF WILL HAVE ID STAMP ON LOCK EDGE ON
LOWER SECTION AND UPPER SECTION OF DOOR UNDER TRIM

4. DOOR, FRAME, AND SUB-FRAMES ARE TO BE HOT—
DIPPED GALVANIZED PRIOR TO CLADDING

5. PRODUCT LABELS ARE LOCATED ON HEAD UNDER THE

DOOR LEAF AND ON EDGE OF THE DOOR AT 48" ABOVE
FINISH FLOOR UNDER EDGE OF TRIM

15M FEBR
GALV
EXTERIOR

N\ 1
| —t 1
— - /—@]
|| K] ¢
o || Nl ||/ @]
. \Z2/
:E. o = I@W\ @; [{ =
{ A [ <
=gl & AN | =
e - ﬁ\ > /_@ ;
e | E | :
§ S § 2 [’ il
N B>> // ( //F<§£
R Yy, )
N Y I /@
E J/ y [/
FDI ID STAMP—FD132—R—XX—XX—66 #40mm [377] D0 ELEVATION

1029mm [40 1/2"] F.D.

A

1041mm [41"] T.0.

1552mm [61 1/8"] R.0.

PROTECTEDv (INTERIOR)
SIDE

RHR

(EXTERIOR)

PLAN

‘ ATTACK
SIDE

\

N

VWV

[@]
~
Q

\C"y

(o]

NV

PHONE: 301-699-0777 FAX: 301-699-0779

TOLL FREE: 800-366—7725

=z
S o o
%(n Z uoe
=z z ==z
Z w 0=
&ugﬁ o U)E
WSSEES 0%
ngggéﬂgu
S2u
SHW 25 — HARDWARE SCHEDULE BREBSLEHR
OOQQ&oémo
NnoLooxXmn—
ADAMS RITE CERTIFIED FORCED ENTRY LOCK <
MS 1850S x 15TT THUMBTURN (INTERIOR) x 626 =
\_
LOCK PROTECTION PLATE AROUND BOTTOM FE THUMBTURN |3& 2
3¢ 8%
LCN DOOR CLOSER 27,13t
4040XP—SRI x CUSH—N—STOP x SP28 (BHMAG689) 55%% a5
— N 0L
STANLEY CB199—NRP (NON—REMOVABLE PIN) & G
CB199 5" X 4 1/2” X 630 gEE3 &
628%..2
SENTROL MAGNETIC SWITCH (DOOR MONITOR) 1076D—M Z0nz80
OO0 IZW
LOOO0nLWL >
VON DUPRIN ELECTRIC POWER TRANSFER
EPT—2 X SP28 (BHMA 689) \Ezz
ZEES
ZEZ.
288
VON DUPRIN PANIC EXIT DEVICE (ACCESS CONTROL) gggi
EL98L X 996L—R X 299 STRIKE X 630 EEf
£s8:
MEDECO (ORIGINAL) INTERCHANGEABLE CORE ;ESE
& RIM CYLINDER ASSEMBLY ghce
32—-0400V—626—A1 x CT—Y32 £2aE
4208
MONITEQ CC—8521A CYPHER LOCK yiva
MONITEQ RECHARGEABLE BATTERIES 7AH EEEE
CC—BATT X 12VDC X 7AH g Eoel
I
PEMKO 171A W/ 1842AS X 37" ALUMINUM THRESHOLD s 0T Egg;ﬁ
=N
< O< H
PEMKO S88D17 WEATHERSEAL x 9O | effed
(O]
=
S 2
o
8_ 8
- = 74
-3% &
OT%QOJ 2
uoﬁoﬂmﬂl
wn o O+~0OX<
*E
& Dod
W3l XL
SmzHIZEE
983355
ID:
FABRICATION -
DESIGNS, INC.
5622 LAFAYETTE PLACE SHEET:
HYATTSVILLE, MD 20781 4 OF 9

UNCLASSIFIED




UNCLASSIFIED

8 o o
Omn Z uoe
[CONCRETE WALL] Zz z =z
pEizE & | F
u%OEEO no
Emu%@%%go
8 SSZ L35t
nACESEH R
o
00NnVAO=no
/ NoLoOooxXxy;m nk—
S
|
1. VISION OPENING IS 10 7/8" x 81 1/8" ﬁ% 8%
2. GLASS/POLYCARBONATE SIZE IS 13 7/8” x 83 7/8" E@n éxl
— =N
m LO—Z W0V
S| al o = -
El T e . ERPER:
S Y B AR = 2388 ¢
99& ..
D S R g NOTES: S>oo83
o ol vl = o 588%Zzn
& X 2| X2 > 1. WINDOW FRAME BOLT HOLES SLOTTED VERTICALLY Loonb >
8 g S g o 2. WINDOW FRAMES WILL HAVE ID STAMP UNDER 2" X 2"
[©] S 5 = = TUBE IN THE LOWER RIGHT CORNER 8 Eg
S| & S N 3. WINDOW FRAME AND SUB-FRAMES ARE TO BE HOT- 5
m [—]| DIPPED GALVANIZED PRIOR TO CLADDING EEEE
258
Bu?
\Z7/ ﬁggg
£s
2gsf
693 565,
sige
w2
” ;_EE%
zlaﬂ
-] Eﬁ
iy EgEis‘
So Bokel
" = yrds,
276mm [10 7/8"] V.0. s =7 Egﬁﬁﬁ
/ ELEVATION s 24 g
» ) . < Z [":] §
394mm [15 1/2"] F.D L 23 |k
406mm [16”] T.O./

FDI ID STAMP—FW132—R—XX—XX—66J 553mm [61 1/8"] R.0. o
. 5
© <
i

[CONCRETE SLAB] =T 2
— = © ['4
Qngg—luJ(ll
heF8=FIL
v PROTECTED ~ (INTERIOR) w3
SIDE - 5  Beu
E%g mz§§
SmzHZZRE
P ﬂ Sp2izzu
o sS0O000NO0L
ID:
15M FEBR = FABRICATION |
BL AST ( ) DESIGNS, INC.
ATTACK EXTERIOR
G ALV PLAN A SIDE 5622 LAFAYETTE PLACE SHEET:
HYATTSVILLE, MD 20781
PHONE: 301—699—0777 FAX: 301-699—0779 5 OF 9
EXTERIOR TOLL FREE: 800—-366—7725

UNCLASSIFIED




UNCLASSIFIED

1/16” x 3/4” x 1 1/2” STEEL TUBE
WELDED TO EMBED BY FDI

REBAR CAGE BY OTHERS

12mm UNISTRUT NUT AND SPRING

.090 X 1 1/4” X 2" STEEL TUBE,

1 1/4” TALL WELDED TO EMBED BY FDI
SELF—SEALING BITUMINOUS MEMBRANE
BY CONTRACTOR AS REQUIRED

1/2" x 1 1/4" x 2 1/4”

ADJUSTABLE STEEL NUT A36

12mm X 216mm STEEL PLATE WITH
3/4” X 8" NELSON STUDS, 305mm OC
CONDUIT ACCESS

ATTACK
SIDE

STAINLESS STEEL .050 CLADDING,
FACTORY APPLIED

1/4" X 1/2" BUTYL TAPE
AND CR134 GASKET

1/4” X 1/2"
SANTOPRENE GASKET

>

ROUGH OPENING
FRAME DIMENSION

DOOR OPENING

15

5 o g
on Z o
zZz z Bz
ng¥e W =
pW S0 0 i
LaAgoeEwo no
TO =& Ranle)
= wllnI =z
oxs00083zy
oZ oD Fm
BSEBEREHR
FDI-HPR4 ~
GLAZING 1/4" X 1/2" SPONGE TAPE AND oS
CR135 GASKET BRL8ERF A
STAINLESS STEEL .050 CLADDING
% _ 1/4" X 1/2" BUTYL TAPE
- N AND CR134 GASKET
102mm [4] - 203md [8"] : o 18 X 1" X1
' N ' T STEEL ANGLE A36
<
_ 1/4 X 1/2" ﬁ 4 PROTECTED <<<<<<
a SANTOPRENE GASKET . SIDE SSSSSS
ATTACK by gy g0
D SIDE > 1/4" X 1" X 1 N
> STEEL ANGLE A36 BT M
gEdg £
- 1/4" X 1/2" BUTYL TAPE REMOVABLE 1/4" STEEL DOOR PLATE 808 x h
4 AND CR134 GASKET ATTACHED TO 3/16” PLATE WITH 6mm X Ezoo%%
. 16mm FHMS. THIS PLATE IS REMOVED TO 88223
g CHANGE THE GLASS AND POLYCARBONATE Eedncs
-AO FDI-HPR4 | 1/4” X 1/2" SPONGE TAPE AND
N < GLAZING CR135 GASKET A . 5
. = g 22
< gEes
EETOI T MR - EﬁE
S T " FDI-NGC15M /2—B CENTER RAIL DETAIL < E:'s
— 1:5 ogg
3/4” x 3/4" BALLISTIC STEEL BAR Q o Ezéé
1/4-20 SELF-TAPPING SCREWS, 3 REQD — = EESE
CAULK £ & §EEs
o] E—z
FULLY SHIM WITH 1/16" X 3 1/2” PLASTIC — STAINLESS STEEL .050 CLADDING =~ EEE
HORSESHOE SHIMS WITH BREAK — 4 PROTECTED 2 Jie
OFF TABS REQ'D AT EACH ANCHOR PROTECTED N g /DOOR UNIT SIDE o %gg
DOOR FRAME SIDE = = Ees
»  on o on PEMKO 171A W/ 1842AS m sEoB
£
lg4° x 2 x 2" STEEL TUBE AS00 ATTACK £ 1/2" X 5" SADDLE THRESHOLD Ao EEE;Z.
' SIDE - W/ SLOTTED ANCHOR HOLES >e 8ok
STAINLESS STEEL .109 CLADDING ATTACHED —— 5 Zaw whags
WITH #10-24 X 3/8" THMS R N 7 MNP 7777 ar . 5o EEEmﬁ
6mm [1/4"] OFFSET FOR BALLISTIC BAR / _ ' 2 25 E:%E;
12mm X 50mm ALLEN HEAD CAP SCREW, CLASS 12.9, 1/4" X 11/2" STEEL —] N - Z &= §§§§m
) . r A TO |uvftad
WITH GRADE 8 WASHER, 2 REQ'D, 254mm FROM EACH . o gpgad
EDGE OF HEAD FRAME FLAT BAR A36 W/ e
SLOTTED ANCHOR HOLES o 4
PEMKO SBBD17 WEATHERSEAL 4mm x 40mm EH SCREW — a g
11/4” ACCESS HOLE @ ANCHORS W/ PLASTIC ANCHOR ‘4
1/4" X 1/2" SPONGE TAPE AND CR135 GASKET FOR MASONARY v ' < A= o
FDI-HPR4 GLAZING 1"2mm "X 203mm STEEL PLATE WITH A o 1 . ) M E
3/4” X 8" NELSON STUDS, 305mm OC _ R % o S -
S _ A < 4 = £
) : : E: i
. |__—| - =\
- e =TI
Do 0wy
FDI-NGC15M /2—B TYPICAL HEAD DETAIL 1 6 FDI-NGC15M /2—B THRESHOLD DETAIL NONO=GZo
1:5 1:5 .. ;-
s >'—'E
.o i
5.8 8%
W3l 22X
SnzHIZR5
xS5kdxxa
asS0a0nao
ID:
FABRICATION
132-R
DESIGNS, INC.
5622 LAFAYETTE PLACE SHEET:
HYATTSVILLE, MD 20781 6 OF 9

PHONE: 301-699-0777 FAX: 301—-699-0779

TOLL FREE: 800-366—7725

UNCLASSIFIED




UNCLASSIFIED

13mm [1/27]

6mm [1/4"] OFFSET FOR BALLISTIC BAR

[1'4
<
m
(&)
5
PROTECTED = PROTECTED
SIDE z STAINLESS STEEL .109 CLADDING ATTACHED SIDE
v = | WITH #10—24 X 5/8” FHMS v
e 3/4" x 3/4” BALLISTIC STEEL BAR
5 1/4—-20 SELF—TAPPING SCREWS, 305mm OC
2 12mm X 40mm ALLEN HEAD CAP SCREW, 15mm [5/8"]
S CLASS 12.9, WITH GRADE 8 WASHER, 152mm OC
1/16” x 3/4" x 1 1/2” STEEL TUBE K3 9% . R /47X 2" X 2 SGTREE[';Eng(E,

WELDED TO EMBED BY FDI STAINLESS STEEL .109 CLADDING ATTACHED

1/4” X 1/2” BUTYL TAPE

» » . "4
3/4" x 3/4" BALLISTIC STEEL BAR £ 5 5 v WTH #10-24 X 3/8" THMS
1/4-20 SELF—TAPPING SCREWS, 305mm OC . v = FULLY SHIM WITH 1/16” X 3 1/2" PLASTIC
12mm X 50mm ALLEN HEAD 7 v > &, HORSESHOE SHIMS WITH BREAK
CAP SCREW, CLASS 12.9, WITH 4 , £ (. OFF TABS REQ'D AT EACH ANCHOR
GRADE 8 WASHER, 305mm OC < ¢« 5l = 3/8" x 1/2" SPONGE TAPE
1/4" STEEL TUBE ASSEMBLY ': /F—! < v < 1/4” x 1/2" SANTOPRENE GASKET
STAINLESS STEEL .109 CLADDING ATTACHED [ E/"L ! v v S FDI-HPRE BLAST GLAZING [0
WITH #0-24 X 3/8" THMS S~ SN % = . g v _\
PEMKO S88D20 WEATHERSEAL N 'Pllm ik : I , :
1/4” X 1/2" SPONGE TAPE N N A e | \
AND CR135 GASKET SN K v TS ot C
" » 4 !‘ S =l v I
1/4" X 1/2 ’ \ o v e lt f
SANTOPRENE GASKET g q —————— ¥ El
! 3 . v I I
] . T b .8
FDI-HPR4 GLAZING% DOOR UNIT—/ / |2 ,,- C . RN 59mm [2 5/16"] /

, VISION OPENING |
AND CR134 GASKET Stmm [2°] / /
' DOOR OPENING / / FRAME_DIMENSION /// /
FRAME DIMENSION ROUGH OPENING —
A / / / STAINLESS STEEL .050 CLADDING,
ROUGH OPENING FACTORY APPLIED

STAINLESS STEEL .050 CLADDING, FACTORY APPLIED 3/16” X 1/2° SHIM BUTYL TAPE

FULLY SHIM WITH 1/16” X 3 1/2" PLASTIC — REBAR CAGE BY OTHERS

AND CR135 GASKET
HORSESHOE SHIMS ‘WITH BREAK 12mm UNISTRUT NUT AND SPRING 5/16” X 4" X 6" STEEL ANGLE
OFF TABS REQ'D AT EACH ANCHOR 090 X 1 1/4" X 2" STEEL TUBE A36 MODIFIED TO 2 5/16”
CAULK 1 1/4” TALL WELDED TO EMBED BY FDI CAULK
12mm X 216mm STEEL PLATE WITH 1/2" x 1 1/4" X 2 1/4"
3/4” X 8" NELSON STUDS, 305mm OC ADJUSTABLE STEEL NUT A36

SELF—SEALING BITUMINOUS MEMBRANE
BY CONTRACTOR AS REQUIRED

1/4” X 2" X 8" GRADE 50 STEEL TUBE,

1:5

W ZHZ FDI-NGC15M /2—B HINGE JAMB DETAIL
1:5

1 5M FDI-NGC15M/2—B LOCK JAMB DETAIL

FRAME DIMENSION
ON CENTER

DOOR OPENING
OPP OPPOSITE

BY OTHERS

BO
DO
FD
oC

ROUGH OPENING
SIM  SIMILAR

RO

STAINLESS STEEL
TUBE OPENING

SS
T0

PHONE: 301-699-0777 FAX: 301-699-0779
TOLL FREE: 800-366—7725

ARARR R R
ASTM A36 A500 SSSSSS
3/4" X 3/4” BALLISTIC STEEL BAR A36
1/4-20 SELF—TAPPING SCREWS, 305mm OC R
CAULK WANS
Q0o
12mm X 50mm ALLEN HEAD CAP SCREW, 930S 45
CLASS 12.9, WITH GRADE 8 WASHER, 305mm OC =989
TUBULAR FRAME DR8FE2
STAINLESS STEEL 109 CLADDING ATTACHED
WITH #10-24 X 3/8" THMS
PEMKO S88D17 WEATHERSEAL 5 53
THUMBTURN gpes
1” x 3 1/2" x 4" BOTTOM g By
FE LOCK PROTECTION iz,
3 = En&d
DOOR UNIT Z b3
BLag
W/i 1/4" X 1/2" SPONGE TAPE @ EEEE
N AND CR135 GASKET = E.Eiig
1/4" X 1/2" - g8,
SANTOPRENE GASKET L TS
L ] = il
m 23«
E FDI-HPR4 GLAZING =34 Egzﬁ
\ \ 1/4" X 1/2" BUTYL TAPE T 3§5E
” i .
38mm [1 1/2°] AND CR134 GASKET N= Esggg
E ge x
DOOR OPENING D20 |eds
A\ \ A s BE7|dm
FRAME_DIMENSION S o7 |
\\\ ATTACK s Tx2 §§§§§
ROUGH OPENING SIDE c = L2
5 2983 EE&%g
\ \— STAINLESS STEEL .050 CLADDING, FACTORY APPLIED
FULLY SHIM WITH 1/16" X 3 1/2" PLASTIC
HORSESHOE SHIMS WITH BREAK
OFF TABS REQ'D AT EACH ANCHOR o
CAULK “ =
STAINLESS STEEL .109 CLADDING ATTACHED S q
WITH #10-24 X 5/8" FHMS 8 =
- = x
-39 &
OT%Q | 2
Hogxo0EY
NONO=ON~
S ;E
.= -
5.9 . T8%
Wl | XL
SpnzHIZRE
3855z a
aSOamaoi
ID:
FABRICATION
132-R
DESIGNS, INC.
5622 LAFAYETTE PLACE SHEET:
HYATTSVILLE, MD 20781 S oF 5

UNCLASSIFIED




UNCLASSIFIED

1/16” x 3/4” x 1 1/2” STEEL TUBE
MUD BOX FACTORY WELDED TO EMBED
REBAR CAGE BY OTHERS

12mm UNISTRUT NUT AND SPRING
12mm X 216mm STEEL PLATE WITH
3/4" X 8" NELSON STUDS, 152mm OC
SELF—SEALING BITUMINOUS MEMBRANE
BY CONTRACTOR AS REQUIRED

CAULK

5/16” X 4” X 6” STEEL ANGLE

A36 MODIFIED TO 2 5/16”

STAINLESS STEEL .050 CLADDING,
FACTORY APPLIED

3/16" X 1/2" SHM BUTYL TAPE
AND CR135 GASKET

ATTACK
SIDE

>

ol

: v 4 .
| 102mm [47 0 203mm [8"]
— - — you
< . . a < :

L
)

: . ;".
9 X
o ]
=]
4 N
. s
lo 5
< - ]
SA

ROUGH OPENING

FRAME DIMENSION

VISION OPENING

R T

59mm [2 5/16"]
pa
4

FDI-FW15M HEAD DETAIL

.090 X 1 1/4" X 2" STEEL TUBE,
11/4" TALL WELDED TO EMBED BY FDI
3/4" x 3/4" BALLISTIC STEEL BAR

1/4-20 SELF—TAPPING SCREWS, 305mm OC

1/2" x 1 1/4” x 2 1/4" ADJUSTABLE STEEL NUT A36

12mm X 50mm ALLEN HEAD CAP SCREW,
CLASS 12.9, WITH GRADE 8 WASHER, 152mm OC

1/4” X 2" X 2" STEEL TUBE GRADE 500
STAINLESS STEEL .109 CLADDING ATTACHED
WITH #10-24 X 3/8" THMS

3/8" x 1/2" SPONGE TAPE

1/4" x 1/2" SANTOPRENE GASKET

FULLY SHIM WITH 1/16” X 3 1/2" PLASTIC
HORSESHOE SHIMS WITH BREAK

OFF TABS REQ'D AT EACH ANCHOR

FDI-HPRE BLAST GLAZING

<

PROTECTED
SIDE

1:5

N ORI I YT T RANCINCT
o e T ey

T

g
RGR

BT

- <
—
2 <
0 4
= r > |4 -
£ qA b
- E
-3
A .ﬂ 4
. > e
S . <
. 4 -..
< L 4
A .
_ 2 M i
'ér
>l .
£ ZS | O NG,
£ —
2. N N.A <
. - \ )

REBAR CAGE BY OTHERS
12mm UNISTRUT NUT AND SPRING

SELF—SEALING BITUMINOUS MEMBRANE
BY CONTRACTOR AS REQUIRED

12mm X 216mm STEEL PLATE WITH
3/4” X 8" NELSON STUDS, 152mm OC

5

1:5

5 o g
Om Z uwo
Z=z z ==z
Z b =
U)LIJED: o =
n:n__LlJLuo wnd
[} [aY = wno
IO zE= e}
= wwnI Xt
OXSOO00SZy
o D_Dggm
>0 ZOO=2KE>
nNMoLooxXxum n
OOQo&oémo
NoLoOooxXxum nk—
PROTECTED » ” .
SIDE 1/16" x 3/4" x 1 1/2" STEEL TUBE
MUD BOX FACTORY WELDED TO EMBED
v .090 X 1 1/4" X 2" STEEL TUBE,
1 1/4” TALL WELDED TO EMBED BY FDI e x
1/2" x 1 1/4” x 2 1/4” ADJUSTABLE SSSSSS
STEEL NUT A36
3/4" x 3/4" BALLISTIC STEEL BAR GoE
1/4-20 SELF—TAPPING SCREWS, 305mm OC gEu3 %
12mm X 50mm ALLEN HEAD CAP SCREW, 599%..
CLASS 12.9, WITH GRADE 8 WASHER, 152mm OC ==0°tz
1/4” X 2" X 2" STEEL TUBE 588225
GRADE 500 Ty Fag7 g mp=
FULLY SHIM WITH 1/16” X 3 1/2” PLASTIC
HORSESHOE SHIMS WITH BREAK
OFF TABS REQD AT EACH ANCHOR § Eg
STAINLESS STEEL .109 CLADDING ATTACHED E;E%
WITH #10-24 X 3/8" THMS n gggf
3/8" x 1/2" SPONGE TAPE = gmg;:
1/4” x 1/2" SANTOPRENE GASKET = By18
T
FDI-HPRE BLAST GLAZING EESE
m R
/ = EEEE
1 | ﬂ:} zE§E
4 \ Sele
T = ek
1 <C uﬁhﬁ
|| Ezls
s |
Y |
59mm [2 5/16"] =i Eg;gz
‘.L n < g-=
VISION OPENING 5 o= a £“§
\\ \ ATTACK $ 5 |
\\ FRAME DIMENSION SIDE s b3 gE.g
z l= H
AR S eh i
ROUGH OPENING L v RaE
\\— STAINLESS STEEL .050 CLADDING, FACTORY APPLIED
3/16” X 1/2” SHIM BUTYL TAPE
AND CR135 GASKET o
5/16" X 4" X 6" STEEL ANGLE - =
A36 MODIFIED TO 2 5/16 § 3
CAULK 8 _ =
=T 7
-39 o
OT%Q _ 2
583 828<S
FDI-FW15M JAMB DETAIL -
S ;E
.o i
5.2 20
M UZXZ
SozEZZRE
mgoQQmIg
OosS000NO0L
ID:
FABRICATION
132-R
DESIGNS, INC.
5622 LAFAYETTE PLACE SHEET:
HYATTSVILLE, MD 20781 8 OF 9

PHONE: 301-699-0777 FAX: 301-699-0779

TOLL FREE:

800—-366—7725

UNCLASSIFIED




UNCLASSIFIED

ATTACK
SIDE

STAINLESS STEEL .050 CLADDING, FACTORY APPLIED

3/16” X 1/2" SHIM BUTYL TAPE
AND CR135 GASKET

5/16" X 4" X 6" STEEL ANGLE
A36 MODIFIED TO 2 5/16"
CAULK

3/4” X 8" NELSON STUDS, 152mm OC
12mm UNISTRUT NUT AND SPRING

1/16" x 3/4” x 1 1/2" STEEL TUBE
MUD BOX FACTORY WELDED TO EMBED

ROUGH OPENING
FRAME DIMENSION

VISION OPENING

59mm [2 5/16"]

AN

M
— A

_/ .

12mm X 216mm STEEL PLATE WITH—/$ '

_

1

4

] .1.0é‘m'm (4] ',Ig B

PROTECTED
SIDE

FDI-HPRE BLAST GLAZING

FULLY SHIM WITH 1/16" X 3 1/2" PLASTIC
HORSESHOE SHIMS WITH BREAK

OFF TABS REQ'D AT EACH ANCHOR

1/4" x 1/2" SANTOPRENE GASKET

3/8" x 1/2" SPONGE TAPE

STAINLESS STEEL .109 CLADDING ATTACHED
WITH #10-24 X 3/8" THMS

1/4” X 2" X 2" STEEL TUBE GRADE 500
12mm X 50mm ALLEN HEAD CAP SCREW,
CLASS 12.9, WTH 1/8" WASHER, 152mm 0OC
1/2" x 1 1/4" x 2 1/4” ADJUSTABLE STEEL NUT A36
1/4-20 SELF—TAPPING SCREWS, 305mm OC
3/4" x 3/4” BALLISTIC STEEL BAR

.090 X 1 1/4" X 2" STEEL TUBE,

1 1/4” TALL WELDED TO EMBED BY FDI

4 g
<’
a4 4
44
- .q4a - 4

5

!

FDI-FW15M SILL DETAIL

1:5

BY OTHERS
DOOR OPENING
FRAME DIMENSION
ON CENTER
OPP OPPOSITE
ROUGH OPENING
SIM  SIMILAR
STAINLESS STEEL
TUBE OPENING

BO
DO
FD
oC
RO
SS
T0

A
A

7
A
7

FDI' MODEL:
DOS MODEL:
DOS CODE:
SHW GROUP:
VISION TYPE:

FINISH:

1:5

DRAWING:
FDI-FW15M SILL DETAIL

SCALE:
THIS DOCUMENT IS THE PROPERTY OF THE U.S. GOVERNMENT. FURTHER REPRODUCTION AND/OR

DISTRIBUTION OUTSIDE THE CONTRACTOR TEAM IS PROHIBITED WITHOUT THE EXPRESS WRI

THIS DOCUMENT IS NOT TO BE ALTERED EXCEPT WITH THE WRITTEN APPROVAL OF THE INDVIDUAL

WHOSE SEAL APPEARS HEREON.

APPROVAL OF: THE U.S. DEPARTMENT OF STATE, WASHINGTON, DC 20522—-0620. INFORMATION ON

SAQMMA11D0063
06/06/11
9—132—RDTL4.DWG

SED
66—11
1:5
GRL

CHECKED BY: KLE

PROJECT:
JOB #:
CONTRACT #:
DATE:

SCALE:
DRAWN BY:
FILENAME:

FABRICATION

I‘ DI DESIGNS, INC.

5622 LAFAYETTE PLACE
HYATTSVILLE, MD 20781
PHONE: 301-699-0777 FAX: 301-699-0779
TOLL FREE: 800—-366—7725

SHEET:
9 OF 9

UNCLASSIFIED




